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| 42 K A ouT | IN |[TOTAL|HDCP| NET
& B E SAF 41 | 42 | 83 | 16 67
B g5t &R 46 | 45 | 91 22 69
3 fu RE L B EA 45 | 47 | 92 | 20 72
4 i FIEF A8h 41 47 | 88 15 73
5 fi B BE 48 | 49 | 97 | 23 74
B-G A SAF 41 42 | 83
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| 42 K A ouT IN [TOTAL|HDCP | NET
& B A #F 4 38 | 79 10 69
B x# E= 39 | 34 [ 73 3 70
3 fu B ER 40 | 39 | 79 9 70
4 i I = 41 41 82 12 70
5 fi ATl BEZ 38 | 38 76 5 71
B-G A# E= 39 | 34 | 73
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| 42 K A ouT IN [TOTAL|HDCP | NET
& B =H EA 40 | 38 | 78 8 70
B BH XE 42 | 42 | 84 | 13 71
3 fu B &S 44 | 39 | 83 11 72
4 fif 51| 8 40 | 39 | 79 6 73
5 {if milE= 41 39 | 80 6 74
B-G EH IEa 40 | 38 78
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| 42 K 4 ouT | IN |[TOTAL|HDCP| NET
& B mEE #H— 43 | 45 | 88 | 22 66
B AKR Eih 43 | 47 | 90 | 24 66
3 fi B B 46 | 50 | 96 | 28 68
4 i Elg 178 39 | 45 | 84 | 15 69
5 fi &l 2 49 | 45 | 94 | 25 69
B-G Elg 178 39 | 45 | 84




